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Задача 7.1. Алутдинов

A=





−3 −2 −8

0 1 0

−2 −1 −5



, B =





−7 −4 −32

0 1 0

−2 −1 −9



,

C =





0 −22 −136

0 0 0

0 0 0



. D = AB + B−1 + C.

Задача 7.2. Балашова

A=





0 −1 −1

−2 1 −2

−1 −1 −2



, B =





−1 −2 −4

−2 1 −4

−1 −1 −3



,

C =





0 0 0

−4 0 0

−2 −2 0



. D = AB + B−1 + C.

Задача 7.3. Бобров

A=





2 −1 1

1 1 1

1 −1 0



, B =





3 −2 4

1 1 2

1 −1 1



,

C =





0 4 −15

0 0 −9

0 0 0



. D = AB + B−1 + C.

Задача 7.4. Гизатулин

A=





3 −1 5

0 1 0

2 −1 3



, B =





1 −2 2

2 1 8

0 −1 −1



,

C =





0 8 −11

0 0 −12

0 0 0



. D = AB + B−1 + C.

Задача 7.5. Гонин Кирилл

A=





1 −1 0

0 1 0

0 −1 −1



, B =





1 −2 0

0 1 0

0 −1 −1



,

C =





0 1 0

0 0 0

0 0 0



. D = AB + B
−1 + C.

Задача 7.6. Зубарев

A=





1 −2 0

2 1 4

0 −1 −1



, B =





9 −4 32

−1 1 −4

2 −1 7



,

C =





0 2 −56

0 0 −84

0 0 0



. D = AB + B
−1 + C.

Задача 7.7. Касаткин

A=





1 −1 1

0 1 0

0 −1 −1



, B =





1 −2 2

0 1 0

0 −1 −1



,

C =





0 0 −3

0 0 0

0 0 0



. D = AB + B−1 + C.

Задача 7.8. Лобышев

A=





−1 −2 −4

0 1 0

−1 −1 −3



, B =





−3 −4 −16

0 1 0

−1 −1 −5



,

C =





0 −10 −20

0 0 0

0 0 0



. D = AB + B−1 + C.

Задача 7.9. Моисеев

A=





−1 −2 −3

0 1 0

−1 −1 −2



, B =





−3 −4 −10

0 1 0

−1 −1 −3



,

C =





0 −7 −9

0 0 0

0 0 0



. D = AB + B−1 + C.

Задача 7.10. Ременьков

A=





1 −2 −1

−2 1 −2

0 −1 −1



, B =





1 −4 −2

−2 1 −4

0 −1 −1



,

C =





0 0 0

2 0 0

0 1 0



. D = AB + B−1 + C.



Задача 7.11. Сафронов

A=





3 −2 4

−1 1 −2

1 −1 1



, B =





−3 −4 −16

1 1 4

−1 −1 −5



,

C =





0 14 76

0 0 −34

0 0 0



. D = AB + B−1 + C.

Задача 7.12. Смирнов

A=





1 −1 3

1 1 1

0 −1 2



, B =





3 −2 10

0 1 0

1 −1 4



,

C =





0 0 0

−4 0 0

−1 2 0



. D = AB + 2B−1 + C.

Задача 7.13. Сысоев

A=





0 −1 2

−1 1 −2

−1 −1 0



, B =





−1 −2 0

−1 1 −4

−1 −1 −2



,

C =





0 7 −8

0 0 4

0 0 0



. D = AB + 2B−1 + C.

Задача 7.14. Федотов

A=





5 −2 7

−1 1 −1

2 −1 3



, B =





1 −4 6

2 1 4

0 −1 1



,

C =





0 31 −7

0 0 −5

0 0 0



. D = AB + B−1 + C.

Задача 7.15. Шведов

A=





0 −1 2

1 1 2

−1 −1 0



, B =





3 −2 16

−1 1 −4

1 −1 6



,

C =





0 7 −8

0 0 −20

0 0 0



. D = AB + 2B−1 + C.

Задача 7.16. Щукин

A=





−1 −2 −3

2 1 2

−1 −1 −2



, B =





9 −4 14

0 1 0

2 −1 3



,

C =





0 0 0

−22 0 0

11 −4 0



. D = AB + B
−1 + C.

Задача 7.17. Попов Роман

A=





1 −2 0

−1 1 −2

0 −1 −1



, B =





1 −4 0

−1 1 −4

0 −1 −1



,

C =





0 2 8

0 0 6

0 0 0



. D = AB + B−1 + C.

Задача 7.18.

A=





1 −2 4

1 1 2

0 −1 1



, B =





5 −4 24

−1 1 −4

1 −1 5



,

C =





0 14 −44

0 0 −26

0 0 0



. D = AB + B−1 + C.

Задача 7.19.

A=





3 −1 2

2 1 2

2 −1 1



, B =





5 −2 8

2 1 4

2 −1 3



,

C =





0 7 −42

0 0 −30

0 0 0



. D = AB + B−1 + C.

Задача 7.20.

A=





1 −2 4

−1 1 −2

0 −1 1



, B =





1 −4 8

−1 1 −4

0 −1 1



,

C =





0 14 −28

0 0 18

0 0 0



. D = AB + B−1 + C.


